
Make Your Wall Smart 

“WS FOR TS-1542 RETROFIT BASE” - Product description: 

The “WS FOR TS-1542 RETROFIT BASE” is an adapter for in-wall nearly 

flush retrofit installation of TS-1542 touch screen (Base unit only, not 

including bezel). 

The “WS FOR TS-1542 RETROFIT BASE” securely mounts the touch 

screen while allowing easy insertion, removal and operation. 

Key features and benefits: 

• Nearly flush with the wall (5.6mm [0.22”] thick on-wall bezel). 

• Allows easy insertion and removal of the touch screen. 

• Wall mount contains depth calibration screws. 

• Designed for the use with TS-1542 (by CRESTRON) (touch screen is not 

included). 

• Adapter kit contains: 

1. (X1) Wall adapter; 

2. (X4) M4x10 screws 

3. (X4) M4 flat washer 

4. (X4) Retention latches 

5. (X4) M4x25 CS screws   

 

• Order bezel separately: 

p/n 10-01-622 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS WO.P 

p/n 10-01-623 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS WHITE 

p/n 10-01-624 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS BLACK 

p/n 10-01-625 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS WO.P 

p/n 10-01-626 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS WHITE 

p/n 10-01-627 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS BLACK 

 

Key properties:  

• Dimensions: (W/H/D): 459.8mm (18.1")/ 315.8mm (12.4") 

/ 69.6mm (2.74”)    
• Weight: 3.3Kg (7.26lbs). 

• Material: Zinc plated carbon steel 

4 1

23

5

[0.39 ~ 1.1]
10 ~ 28

WALL THICKNESS

BEZEL ON WALL
5.6
0.22

  
2.81
71.4   

1
3

.3
3

3
7

.3
B

E
ZE

L 
H

E
IG

H
T

18.89
479.8

BEZEL WIDTH

430
WALL OPENING WIDTH

[16.93]

    459.8
18.1

  
3

1
5

.8
1

2
.4

  [1
1

.2
6

]
2

8
6

W
A

LL
 O

P
E
N

IN
G

H
E
IG

H
T

Model No.:

Phone: (201) 205-2056 / info@wall-smart.com    

A

SHEET 1/2

DWG NO.

REVISION

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,

10-04-575-SPC

WALL-SMART 
Model:

DATE 23/July/2016

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzzDIMENSIONS ARE IN MILLIMETERS

PRODUCT SPEC.

www.wall-smart.com

10-01-575

WS FOR TS-1542 RETROFIT BASE
Family:

by Wall-Smart Ltd.

Make Your Wall Smart 

“WS FOR TS-1542 RETROFIT BASE” - Product description: 

The “WS FOR TS-1542 RETROFIT BASE” is an adapter for in-wall nearly 

flush retrofit installation of TS-1542 touch screen (Base unit only, not 

including bezel). 

The “WS FOR TS-1542 RETROFIT BASE” securely mounts the touch 

screen while allowing easy insertion, removal and operation. 

Key features and benefits: 

• Nearly flush with the wall (5.6mm [0.22”] thick on-wall bezel). 

• Allows easy insertion and removal of the touch screen. 

• Wall mount contains depth calibration screws. 

• Designed for the use with TS-1542 (by CRESTRON) (touch screen is not 

included). 

• Adapter kit contains: 

1. (X1) Wall adapter; 

2. (X4) M4x10 screws 

3. (X4) M4 flat washer 

4. (X4) Retention latches 

5. (X4) M4x25 CS screws   

 

• Order bezel separately: 

p/n 10-01-622 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS WO.P 

p/n 10-01-623 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS WHITE 

p/n 10-01-624 WS FOR TS-1542 RETROFIT BEZEL W.GRILLS BLACK 

p/n 10-01-625 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS WO.P 

p/n 10-01-626 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS WHITE 

p/n 10-01-627 WS FOR TS-1542 RETROFIT BEZEL WO.GRILLS BLACK 

 

Key properties:  

• Dimensions: (W/H/D): 459.8mm (18.1")/ 315.8mm (12.4") 

/ 69.6mm (2.74”)    
• Weight: 3.3Kg (7.26lbs). 

• Material: Zinc plated carbon steel 



INSERT THE WALL MOUNT BASE INTO THE 
OPENING, INSERT THE LATCHES AND RETAIN 
THEM USING THE x4 M4x25 SCREWS

-Smart Ltd.

Model No.:

WS FOR TS-1542 RETROFIT BASE

A

SHEET 2/2

DWG NO.

Phone: (201) 205-2056 / info@wall-smart.com    

INFORMATION CONTAINED HEREIN IS PROPRIETARY AND MAY NOT BE USED,

10-04-575-SPC

WALL-SMART 
Model:

REVISION

UNLESS OTHERWISE SPECIFIED:

REPRODUCED OR COPIED WITHOUT WRITTEN CONSENT OF WALL-SMART zzzzDIMENSIONS ARE IN MILLIMETERS

PRODUCT SPEC.

www.wall-smart.com

10-01-575

Family:

DATE

by Wall

23/July/2016

INSTALL SCREEN USING 4 M4X10 SCREWS AND 4 M4 WASHERS 
(DO NOT TIGHTEN THE SCREWS)

CALIBRATE HORIZONTAL POSITION OF THE SCREEN
AND SLIGHTLY TIGHTEN THE SCREWS.

IF REQUIRED, CALIBRATE VERTICAL POSITION OF THE
SCREEN BY ADJUSTING POSITION OF THESE 4 SCREWS
ON BOTH SIDES OF THE SCREEN. 

TO OPEN THE SCREEN, REMOVE THE BEZEL AND
PULL OUT THE SCREEN

MOUNT THE BEZEL BY SNAPPING IT MAGNETICALLY 
TO THE WALL MOUNT FRONT SURFACE

CABLE TIE HOLES

IF REQUIRED, CALIBRATE SCREEN DEPTH BY ROTATING THESE 4 SCREWS ON BOTH
SIDES OF THE SCREEN. 

OPTIONAL DIGITAL MEDIA CABLE ROUTE

PREPARE AN OPENING IN THE WALL 
430mm [16.93"] WIDE, 286mm [11.26"] HIGH


